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1. Round 68 to the nearest 100.
Use the number line to help you.

The answer is 100, because 68 is closer to 100 than to 1.

2. Round 23 to the nearest 100.
Use the number line to help you.

The answer is 1, because 23 is closer to 1 than 100.

3. Round 572 to the nearest 1000.

The answer is 1000, because 572 is closer to 1000 than 1.

4. Round 450 to the nearest 1000.

The answer is 1, because 450 is closer to 1 than 1000.

5. Round 1987 to the nearest 1000.

The answer is 2000, because 1987 is closer to 2000 than 1000.



6. Round 1132 to the nearest 1000.

The answer is 1000, because 1132 is closer to 1000 than 2000.

7. Round 2483 to the nearest 100.

The answer is 2500, because 2483 is closer to 2500 than 2400.

8. Round 3464 to the nearest 10.

The answer is 3460, because 3464 is closer to 3460 than 3470.
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